SORUTTONS => CHAPTER 7 CHAPTER TEST
TMaltiple Chovee

1. Mass of 68 Wa=> 12 m! of antibiotic medicine.
Mass of 40Ky => P ml of antibictic medicine.

S — 12l & =S Option e
. _40\43 &S H&



2. Pﬁ“\'oﬁakﬁ ABC=> Length=500cm KH=15C%
! e\'@:-\-:S-OOcm or

Area = M.3cm> 1.30

%\\Q\’Semcn+ = en8+h =(_5.00cm) (1.50)

71.50cm
He 'ght = (3.00cmX1.30)
= 4.30cm
Area = C1.50cm ) (H.50cm)
= .9 crw%l

\[} Ia Il
Cpthion A~



3. Bat=> 62.5 Km in O.5h
ﬂep\’mrﬁ* = 0.0 Km in 13mMins.(0.25h)

BaT EAEPHAN T
Q_Liﬁm 0.0 KM Opﬁ'on A
9.3 h O.25h

= QA5 Km/h = 40 Km/h



Numerical Kesponse

4. ;ﬁ_‘r\ 20 mintotill 5lccltank.
[ime tTo il 62001 tank="?

Sh 90min= 3EOmin)+ 20 min
= |180min +OOmMin
= D00 Min

R

LO0OMin = -

S100 kL, ©2.00 L,

(200min)(6200k) = (Bloet)(x)
S1O0K, Sleot)
OH4D min = X




5‘ C-_lri'Qr[an \'D{Q\(jrgm . 'SCQIEE‘_ !m ° ?—pcm

i
2z K= _1
oA

Dimensions of Scale ?D'-‘Clqtrom a

Sm 1/ 1 \=codm=>Ycm

“Q-,CC / 3 Y kem

bm (1 \=0co3m=3cm

'2}-(-?\1: i /

3c¢m

2m [ “‘—w\“f O0Im =lem ——H
\ Q}CCK 2lcrmn

o !/___L____\_\‘\I: Q.02 m=>2cm
\ 200/



©. §_maﬂl @ﬁ+qt‘hcr kar\ae. Coﬁ-%-ame‘r.
1C cm !ona bj “4cm H‘gh 13 cm ﬁor@ b}j 5-2th8%.
%(h&f&h‘i‘) = iQ Crn

“4cm
= .35

The uf\ci hts of +he hwo containers differ
‘b\j ¥ Sig\e factor of 1.3,



1. A cvght hexaoonal prism (s en\or&ed b\j
Q. Scale Factdr of 5.7. |

a) %%%ume of \quc: prism = },{/5
Jolume OF Small prism
(8.1)°

185.193

(]!

b) Surface area of large prism = K*

(5.11)*
32.4




S. Scale Mode | of T-TD‘Q.Q‘%“C‘(" 38k . 028 . GSEL
- tall wide . ﬂcmg

| Actua ! T\?Q(ﬂror. (K=30)
0.35+(30o)= 9 £+ tall

0.2 (30)= & £t wide
0.3 £+ (30) = IS ¥+ long



g. \SCQ‘&Q ,MQ&QQ‘.OQ Statue 13.5cm, 1.2 cm , I4.6cm
. - R " Fall Wide \cma

Vicrual Statue CK=13) _
13.Sem (1S)= 909.5cm +all

L2 cem (U1S) = 1683 e Wide
IH.6cm (1S)= 919 cn \onﬁ



10. © (Area of rccﬁ*ong\e =2
=)D
=18 unit?

@ Area of Jr\"opez,o{d = h(as+b)
2

’

=3(6+T)
P

= 3013)
2.

=39
2,

= 19.5 units*

®\.P1re_o of Trapezoid = bﬁ%—_b_}

= 3(3+8)

2
=300
]

oY

= 1S units”



@ Avreq of rec-%-ana‘te_ = QW Actdl 1941954165 +24
= ()3 =78 units?
= 24 Units’®

\Area of Similar 2-Dshape = (ot (\Pnrco. af omgmal shqpe:)
= (@’- (I8 uni+s )

= (&)(TBunits?

= B-Tumts? oR 9 units?
The area of Esther's veduced ﬂ:iaure_ 'S Quats?



1. Joan Works 30h evertj 2. Weeks.
She works 80 weelKs each Year.

_Sffo.'%eza Y 1

0N =% 1ISh %X SQ0weeks
2wee¥hs | week | wieets \] car
(Eon ) wee)= (XN 2weets) = 150K year.
z\a:—%c’f;s 2 wee’ks
=X

Strateqy#2,
Sy = w

2. weekKs S0 weeKs
(EOnXSoweeks) = (x (2 weelss)
2. weeltés 2 nee¥KS
I50h = X

Joan will worK TISOh in one year.



12. (ost++o i1 up q+06Q$ STationin @nqda a
(&t .39 ) (q0k) = ¥125.10 Cdn.
1k

CQY\VEY‘HDS A0 L into. .S %c\\kon:sz

(a0u) L.\ = 3.5 aal
<6Lﬁg':2‘; SQ

The cost in U.S. dollars For Q3.753 SQ‘IS
(23"’58‘3")(& 3.23\=876.7|

The cost in Ccqu'.aﬁ dollars for é)i’) 7’5’80.13

@376’11,5&5”)/$L0L1 Cdn) = $79.78 Cdn.
d 1us )

:D'FFcre;hr:_e in cost = $125.10- 879,78
= §M5.30,



‘L-invppmxi mate cogtto Fillupe

| ;lir\ Canada 'me United States
Qi (91.39)=8018  (Sowr)81611\=8025.5]
\ i / A (\ Q0 ks /
L
3 ot atanK

\mech Qp‘h‘oﬁ W‘Lc\\igs more Senge, 2272



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

